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(Zfé g=10mg~2)
Question: LSS S S
AT AT
Topic: Physics-Section B
Item No: 60
Question
D- 100460
Question

Type:

Numeric Answer




b bheBile A BE L ABSHL1536245° h fe St FS lee I W g5 S
Jl;/))L'Jjﬁf 30° nﬂ//@g,;éf,_.‘adgici‘i.gﬁ & B iﬁ?.ijla.yﬁjﬁfgélfﬂ 10m 2 b

< J,A.-;J t-< t::’:UbFEUf;:".f CLi Aiz‘é'f..f_t,;‘/“';‘.f C b /U"{{Lfﬁ‘”
=10m/s2 (. SJ
Question: (g m/s2 /1)
/45° 30°
_____ A %
Topic: Chemistry-Section A
Item No: 61
Question ID: 100461

Question Type: | MCQ

S J}Ié:;étlpiéd—fé}ﬁ Hl/ga’:_..:ufbt:

n=3,1=0,m=0 (A)

Question: n=41=0,m=0 (B)
n=31=1,m=0 (C)
n=31=2m=1 (D)

. (D) > (B) > (C) > (A)

B: (B) > (D) > (©) > (A)

C: (©) > (B)>(D)>(A)

D: (B) > (©)>(D)>(A)

Topic: Chemistry-Section A

temNo: |62

Question ID: 100462

Question Type: | MCQ




byl e 1/
I &/ | QO
= o =Ya— g (&)
Question: JETAUEE ) w=Qxr (B)
ST U Gess (1) w ©
i (IV) Uyo=Ua+Ug (D)
LSl pIBL Y
A (A) - (IL), (B) - (1), (C) - (IV), (D) - (111)
B: (A) - (1), (B) - (AV), (C) - (1), (D) - (11)
C: (A) - (1), (B) - (1), (©) - (IV), (D) - (1)
D: (A) - (), (B) - (IV), (C) - (1T), (D) - ()
Topic: Chemisty-Section A
tomNo: |63
Question ID: | 100463
Question Type: | MCQ
Question: | _ (rHCl 2 5P b ke NH,OH UL ludE7
pH
U volume of acid




:ya

volume of acid

.

volume of acid

A

0 volume of acid

Topic: Chemistry-Section A

Item No: 64

Question ID: 100464

Question Type: | MCQ

_.Ljfgéd}u:ftk,ﬁu:d}z
e Fre g 3l gl D LKL Tk

Question: _":L_gﬁj:‘;_,.»_/f’:,;i.if?-4—"4‘-‘3"."’]”1&“'"&}(: IT gk
Tl FIBL St et s

A G M gl o T U

B: sk T gk T ok U

c: —c bl I e dg'f—égl Wl

D: _.:-_('5011 e e b 1 0l




Topic: Chemistry-Section A
Item No: 65
Question ID: | 100465
Question MCQ
Type:
e Rilzal A gt L e bl A5
_.L,{f'&ﬁlfd/amﬂ-ﬂ?i_ﬁ::.ﬁK&JF*JLLﬁlnﬁJVLJ)VG';J 1 (A) YUkl
Question: . Lo
G e KRN G S e KA BN (R) 2
_éjflﬁgaufdjﬁc‘:gtju:ﬁ}d/atgUl..‘_,t.i&-.u
A _‘;_,.auééo 5'(A), (R) ﬂu_géf (R) s (A) Usss
B: i Sl éf §'(A), (R) J’u*(’f (R) s (A) U
c: o (R) FC (A)
o <& R) SFest (a)
Topic: Chemistry-Section A
Item No: 66
Question ID: 100466
Question Type: | MCQ
e Jut S ER G D s OB A Stk
352 (A)
3s*3p'  (B)

Question:

3s3p” ()
3s’p" (D)

_,.:;,;-;;g@w’l@ﬁ’;icﬁd'




A (A)<(B)<(O)<(D)

B: (B) <(A)<(D)<(©Q)

C: (B) <(D) <(A)<(©Q)

D: (B)<(A)<(O)<(D)

Topic: Chemistry-Section A

Item No: 67

Question | 100467

Question | cq

Cvecton —Bie Unlie AL AL s e b VAL B 2L 20 ) A #6100)
-<

A: Mg

B: Be

C: Ca

D: Sr

Topic: Chemistry-Section A

Item No: 68

Question ID: 100468

Question Type: | MCQ

- (R) JIZ sl (A) Yl f L esmbln )3
ce MLl BE T g :(A) gikl

Question: 2
e e und 1 (R) IR
,é_:;"f".,,lﬁé;uw;pébf_jufﬁ;d}tgugJ_.sz-,;;
A:

_,;_Juég K(A), (R) ;;Iq;é‘ (R) 2! (A) U




B: -..:;u.{.fﬂ&(’fp 5 (A), (R) fu* 5 (R) s/ (A) U#
c: e sk R) FC (A)

> & ®) e st (a)

Topic: Chemistry-Section A

Item No: 69

Question ID: 100469

Question Type: | MCQ

. - . - — # F 3
Question: --i:'—-l:'/():’rd/-i{l"!:lﬂfuﬁ MT‘IO4 u:d,yufglkflé,
A SEOF_

B: 5208_

C: SO5

D: SO§

Topic: Chemistry-Section A
Item No: 70

Question ID: 100470

Question Type: | MCQ

Question: L)’j;;.ﬂh.,a.‘;.aﬁd/}?-‘*) lvtf/;f U'@"JU; AR T
A R L nl S Feley

B: gLl e o Fley

c el s ey

D: Y -V ey o

Topic: Chemistry-Section A




Item No: 71
Question
D: 100471
Question
Type: MCQ
_.u“f’é’c__:.:'.ftyuufd'j
Folerd 5L exmose Sl (Fly ash) FIdt SSot s e el :lok
Question:
<
e bl el W e A B Tk
A _L,‘r;(;; Ik o I gk U
B: SUPER T gl 4 T gl U 9o
c: TS P P
D: e G o e e T o
Topic: Chemistry-Section A
Item No: 72
Question ID: 100472
Question Type: | MCQ

L3l A U o

O
Question:
)_I\ NaOH
R S A
major product
/\ B jor p
(|3H
R— C — CH3
A:

H,C Br




OH

B: R—C— CHS
CH,CH,
O
) )J\/\
R
O
’ )-I\/\/ -
R
Topic: Chemistry-Section A
Item No: 73
Question ID: 100473
Question Type: | MCQ
Y- 4190 = MY (VY ¢
Br
Question: CHS = — CH‘S 2 . A HI » B
| CH,OH (Major Product)
CH,
HO Br
| |
A CH,—C — CH-CH,
|
CH,
|
|
|




c CH,—C — CH-CH,
cr
Br I

D: CH3—(|: — (|:H—CH3
cr

Topic: Chemistry-Section A

Item No: 74

Question ID: 100474

_?;pees:tion MCQ

Question:




:g_éuuijvf.ﬂ o) J e

|
COCl
d
i SndCl, / HCl
Juit I CH,—CN > CH, - CHO
3
CH, CHO
. Ghe CrO.Cl
JUgET I @ —= 2, ©)
H,0
CHO
P J\
4 e~ 0, 1
JGinetss IV > Y] O
S A-IC]_S ﬂ'.«i:""L R \\
\"nv// x‘“‘\w__/
E P e WL

(A) - (IV), (B) - (1LI), (C) - (11), (D) - (1)

(A) - (1), (B) - (1), (C) - (I1I), (D) - (IV)

(A) - (1), (B) - (1LI), (C) - (IV), (D) - (1)

(A) - (I1I), (B) - (1I), (©) - (1), (D) - (IV)




Topic: Chemistry-Section A
Iltem No: 75
Question ID: 100475
Question Type: | MCQ
2 Puuntlmed f1e/
| O e
(,9v) (4L
o JadA o L ()
oL} g (B)
B (1) A (©
L4747 (V) 238 (D)
EF b JBLYs
(A) - (1), (B) - (11T, (C) - (1), (D) - (IV)
(A) - (1), (B) - (1), (C) - (1), (D) - (IV)
c (A) - (11), (B) - (), (C) - (IV), (D) - (11
> (A) - (1), (B) - (11), (C) - (1II), (D) - (IV)
Topic: Chemistry-Section A
Iltem No: 76

Question 100476

ID:
Question
Type: MCQ
AL g UG e e T o bl JE S QAT e f ol Pa e A Bt
wirlel 17 b/ AL NaOH (Tr6'Al e 131 £2 ULy A S bR A,
Question:

(Orange) (bt s & st L J5i Ao i st B\ NH, JEEELL 15 -7 Clebr N Pt

- '‘AlA /..‘a.l:},:.,fr;




+
NH,C1~
A:
NH,
Cl
B:
+ —
CH, NH,CI
C:
+
NH,Cl~
D:
Topic: Chemistry-Section A
Item No: 77

Question ID: 100477

Question Type: | MCQ




I &/
W
TSI )

2 GuLrFel e §1a/

e
HI+ ¥ (A)
¥ +Br, 3L (B)

Question:
LACE ) AE + HEVES (©)
& (V) #¥+HNO; (D)
P r e il
A (A) - (IV), (B) - (I), (©) - (II), (D) - (I1T)
B: (A) - (IV), (B) - (11I), (C) - (11), (D) - (1)
S (A) - (11I), (B) - (1), (C) - (IV), (D) - (1I)
D: (A) - (D), (B) - (III), (C) - (IV), (D) - (1I)
Topic: Chemistry-Section A
Item No: 78
Question ID: 100478
Question Type: | MCQ

queston: | e bttt U7 Serbogde AL
A: e /:,i’ l(: 3y

B: \.".;«,FJ{JKJr-': iy

C: O

D: 6501

Topic: Chemistry-Section A

Item No: 79

Question ID:

100479




Question Type: | MCQ
e GurFela el f1a/
I &/ s
/A PG (A)
Question: w9 (I) M!'M'J’;ﬁ (B)
& () ﬁd’.'ﬂ't‘},& (©)
SEF (1) J14 .?m-or"’ff (D)
. Ce SIS
A (A) - AV), (B) - 11I), (C) - (I), (D) - (II)
B: (A) - (11I), (B) - (L), (C) - (IV), (D) - (II)
C: (A) - (1), (B) - (IV), (C) - (1I), (D) - (1)
D: (A) - (1I), (B) - (IV), (C) - (), (D) - (1I)
Topic: Chemistry-Section A
Iltem No: 80
Question ID: 100480
Question Type: | MCQ
Queston: | _e B Sl bk Fedt sl W FIE LA Aty
A [Fe(H,O)sl> [Fe(CN)g]
B: Fe,[Fe(CN)gn
C: Fe;[Fe(OH), (CN)4l,
D: Fey[Fe(CN)gls
Topic: Chemistry-Section B
tem No: |81
IQDL:eStion 100481




_?;pees:tion Numeric Answer
ce Uil b AL50 mL £ NaOH 01 M £ 100 mL § H,S0, 0.1 M 2 td HyS0,
Question:
(Jﬁé:.{ﬁ;)_‘a. x10-1M
Topic: Chemistry-Section B
Item No: 82
Question ID: | 100482

Question Type: | Numeric Answer

e 2 B8 STy (U 99) Simslie e Zon 25°C

Question: _,é__igdﬂ ._:.‘,f’:‘d/lbr
(R=0.083 L bar K- 1mol~1:1s)
Topic: Chemistry-Section B
Item No: 83
Question
D- 100483
Ques.tion Numeric Answer
Type:
oS L 31 2l et R S E Tt oz S 3f 280 g mol = UL
Question: LIS AL 2.5 KT K1 $le s AN A 29845 K Sok e 298.0 K
_SEAS % 9 KJ mol -1
Topic: Chemistry-Section B
Item No: 84
Question
D- 100484
_?;pees:tion Numeric Answer
o i3 Qb UFend § B VAL 100 g DA A U¥p 25°C L L kJH e
uestion: : % i
< (il MSS L e bl A F-< 23.76 mm Hg 3166 3L 26U
Topic: Chemistry-Section B
Item No: 85




Question
ID:

100485

Ques.tion Numeric Answer
Type:
Bl — [A]
B;Jilp upl:lf:/}
Question: - . - . bt . 2
G nidl i 3ks s £ I [A] S 70 e S S f J‘?J;L [B] <211
- afJx_‘LxXIU_E'S—]ﬁW
Topic: Chemistry-Section B
Item No: 86
Question ID: | 100486
Que§tion Numeric Answer
Type:
e }I_,L‘;].J.:;Iﬂ,?r/ IJQ}TLJ‘J’_,S
Question:
AP et bkt d et W oK e £ b 3Bt bt UL C o e e e AT
Topic: Chemistry-Section B
Item No: 87
Question ID: | 100487
Question .
Type: Numeric Answer
L i " ,.,' - « |* &
=/ 1/{ y o S e i\ T rera ks JJI%'J:':’ Tl e (5L
" it k4 i k- k3
Question: '
- (oxidation state)
Topic: Chemistry-Section B
Item No: 88
Question ID: 100488

Question Type:

Numeric Answer

Question:

s L/_':TE &UVLIJéJ&VfI/:a

-

[

NO5 , HyO,, BE;, PCly, XeFy, SEy, XeO3, PHY , SO3, [A(OH),] ™

Topic:

Chemistry-Section B




Iltem No: 89
Qgestion 100489
ID:
Ques.tion Numeric Answer
Type:
Question: |, J* BM yvﬁwa’@/@ szt f 7 JCV €Lt Fsf
Topic: Chemistry-Section B
Item No: a0
Question ID: | 100490
1Q_ue§tion Numeric Answer

ype:

CH, CHO
—>
Question:
5 gm (92%)

NS g Bprd i e b LK AL NS 92% fod 5 g LS B

o x10-2¢g

.




